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NNMMS - NOVENDBER, 2019

MENTALABILITY AND
SCHOLASTIC APTITUDE TEST

Timie : Part -1+ 20 Minutes Max. Marks : W)
Tirne : Pare - 1L : A} Minuotes Meax. Mierks . 90

Instructions to the Candidates

Fead the [ullowing instruclions carefully before vou answer the questions. Answers are o he
SHA DD RS EPALRATE given OMBARgwer Sheet with 2 BlagksBoll Point Pen. Read the
Instructions prioted on the OMR Sheetcarefully belore answering Lthe questions.

1.

Mease write your Centre Code No. and Roll No_ very elearly (only one digil im one block)
on the OMR Sheet as givenin your sdmission vand, Please see thal ow block 1s el unfilled
and even Zeros appearing in the Centre Code Mo, are correctly transterred 1o the
appreopriate blocks on e GRE Sheet as shown o the cxan.cle grven in the ORR Sheel,
¥orall subscquent purposes, your Centre Code Na, and Roll No. shall temain the same as
aiver on e Adinission Card.

The Test 15 in TWO Parts, Part-1 consists of 90 guestions and Fare-I also consists of
U0 guestinns.

All questions in Pare-1 and Part-1T carry ane mark cach,

Strce all questions arce compulsory, do not try 1o read through 1he whole question paper
before heginnimg to answer it

Bepin witl the first question and keep trying one question attee another Gl you finish
ivoth the Parts.
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1.

1.

11,

13.

[f'vou do not know the answer to eny question, do not spen much tioe on i and pass on
tor fiext one. 11 me permits, vou van come back to the questions which you have left out
in the first instance and Iey them again.

Since the tne alloted 1o the two parts of this questicn puper 15 very limited, you should
make the best use of it by net spending too much tine on any question,

A hlank poge is provided for rough work at the end of each pan.
Remember, you have to shade answers on a separate OME sheet provided.

Answer to each question is to be indicated by SHADING the circle having the nomber
uf the currect alternative in the OMR Sheet from ameng the ones given for the
corresponding question in the booklet,

Frosw turn W the next poge and start answering the questions.

After the examination, vou should band over the OMR Sheat to the Inviglator ol the
room.

The candidate need not return chis Question Paper Dooklet and can take it after the
comipletion of the examination, Mo candidaie shoold leave the examination ball before
the end of the exaoination.

This Bookls teonsists of 31 Pages for | 80 Questions + 03 Bages of Hough Worlk +
02 Title Pupes ie” Tolal 6 Pagés
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Part-1: MENTALABILITY TEST

Time : 90 Minufes

Max. Marks : 90

Note : SHADE the correet altematives in the OMR Answer Sheet provided, from ameongst the
ones piven against the corresponding questions in the Question Paper Booklet. For
shading (the circles, use o Black Ball Point Pen,
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Part - 11 : SCHOLASTIC APTITUDE TEST

Time : 90 Minutes Mlax. Marks : 90

Nue :
1) Subjewt, Coestion Me. and Marks allelicd,

81 Nu. | Subject Question No. | Marks

|3 _Phg.f:;iu:a O] 1o 102 12

2, Chisrmistcy 10310 kL3 1

3. Biology 114 1o 125 _II -
4, Mmhmn_a!lcs 126 t0 145 20

5 ﬁi&lﬂr}- |46 to 153 11

f. Geography 156 1o 165 10 -
7. | Political B¢ience 166G o 175 _ 11}

% . beonomics | Iiﬁ Lo L& . a5

ii] SHADE the circle havina the correcl aliematives in the QM Answer Sheet provided,
ftom amenpst the ones 2iven against the corresponding questions in the Cluestion Paper
REooklet. For shadiog the ¢ircles, use a Black Ball Point Pen.
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